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P%Q (32)- P is 8m in north of Q

PSQ (24)- P is 6m in south of Q

P#Q (48)- P is 12m in east of Q

P&Q (16)- P is 4m in west of Q

D#H (12), L%O (28), P&T (44), M%L (4), D&I (36) ISJ (64), W&O(44), J&P(4), T%W(40)
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What is the direction and shortest distance of point L with respect to point I?
(a) 2v349m, North-East

(b) 28m, North-East

(c)V789m, South-West

(d) 27m, North-East

(e) None of these

What is the direction of point J with respect to point M?
(a) South-east

(b) North-east

(c) South

(d) North

(e) None of these

If Point S is 7m south of point J, then what is the shortest distance between S
and H?
(@) 14m
(b) 17m
(c) 11m
(d) 15m
(e) None of these
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A%2Z0XBS8SHI#F5M+LV40@QS73*UE&1P

Which of the following element is exactly between“+" and “Q"?
fArafa@a # 9 &l a1 acg “+” 3R “Q” & &+ diw 7 872
a)V
b) @
c) O
d) 4
e)L

How many such vowels are there each of which is immediately followed by
symbols?

W fFraa TR O9d @ 93F & &iF 915 vl 87
a) None

b) One

c) Two

d) Three

e) More than three




A%2Z0XBS8SHI#F5M+LV40@QS73*UE&1P

Four of the following five are alike in a certain way and hence form a group. Which one of the following that
does not belong to the group?

i@ uig # & 97 e ARga alF F o= § 3 sufov & wag sa ) fele@a # @ #ia
| THE & FEfT A€ {2

a) A20

b) H#5

c) 4@S

d) 7*&

e) ZX8

Which of the following element is fourth to the left of the fourteenth element from the right end?
frafaf@a & & &l @1 a7 e oR @ dleEd aca & I Itur §7

a)F

b) +

c)5

d) M
e)V

] =i



Statements

Only a few Goodday is Marie Gold
All Marie Gold is 50-50

No 50-50 is Tiger

Conclusions

a) All Good day can be 50-50

b) Some Marie Gold is Tiger

c) All Good day is Tiger

d) Both Aand B

e) None of the above




Statements

Some Pasta is Rice

Only a few Rice is Cereals

All cereals are meat

Conclusions

a) All Pasta can never be cereals
b) Some Meat is Pasta

c) All Rice can be cereal

e) None of the above

d) Some Meat is Rice




Statements

All Palm oil is Groundnut oil

Only a few Groundnut oil is Mustard oil
No Mustard oil is Olive oil

Conclusions

a) All Palm oil can never be Olive oil

b) Some Olive oil is Groundnut oil

c) No Palm oil is Mustard oil

d) Some Groundnut oil can be mustard oil
e) None of the above




Statements

No Bookshelf is Dressing table

No Dressing table is Mirror

Only a few Mirrorsare Curtains
Conclusions

a) All Dressing tables can be Mirrors

b) Some Mirror can never be Bookshelf
c) Some Curtains are Bookshelves

d) Some Bookshelf is not Mirror

e) All books are Curtains is a possibility




Only a few Coffee is Tea

No Tea is Juice

Few Juice is Milk
Conclusions

a) Some Milk is Tea

b) All tea can never be Milk
c) No Coffee is Juice

d) All milk can be Coffee

e) None of the above




Eleven pillars are kept at some distance with each other. O is 3m north of B, which is
1m west of A. D is 2m west of F. H is 8m west of G, which is 5m south of F. C is 4m
west of E, which is 5m south-east of A. I is 10m east of J, which is 6m south of H. E
is 3m south of D. m@ﬁwq&%#w@wwmél O,BHF 33 # & &t
A F 17 ugw & ¥ D, F & 2# qRadA & &1 H, G ¥ 8+t aiXasw & &, I F & 53 gf@yor
ABNCEF4MaRGA AR NAFSASRAUTE AN LIF 10N @A STHF
6+ afayor & 1 E, D & 3+ fa@or & g

What is the position of H with respect to A?
A.South

B.South-east

C.South-west

D.West

E.North-west
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If the person walks 8m towards the north from point |,
then in which direction is he from point C?
A.East
B.Northeast
C.Northwest
D.Southwest
E.None of these

Find the odd one out?
A.BI

B.AI

C.0OC

D.AG

E.CE




s <FFdS, T, U, V, W, X, Y 31T Z Tep Hief
qfere 3 3T T IR AT FIH 35§ Afdber
AT Agl foh SHI A H gl SATFTAT &
AT qUITeTsh [Ah ATH Teh GEN & ITHeoT
CHERE]

Y Pl tr sR A Iy T W dstgl w
IRYF AT Faa v cgFadsard| v ik
S & AT Fad UF AfFd daarel 239
IAFTF AF g AT A X FaC AT
AT R asargl Tarx iR a gz sfas
BRI dBTE| T & o=t 3T &S FiFaar iy
HETZ & T &S AT A AEAT A TF
?%Ivaa’rwaﬁtaﬁrxaxmﬁm
|

Eight persons S, T, U, V, W, X, Y, and Z are
sitting in a straight row facing north but
not necessarily in the same order.
Consecutive alphabetical name of the
persons doesn’t sit adjacent to each other.
Y sits third from one of the ends. Only one
person sits between W and Y.Only one
person sits between Y and S.Z sits to the
immediate right of the one who sits second
to the left of X.Neither X nor Z is sitting at
an extreme end. The number of persons
sits to the left of T is one less than the
number of persons sit to the right of Z. V
sits adjacent to neither W nor X.




Eight persons S, T, U, V, W, X, Y, and Z are
sitting in a straight row facing north but
not necessarily in the same order.
Consecutive alphabetical name of the
persons doesn’t sit adjacent to each other.
Y sits third from one of the ends. Only one
person sits between W and Y.Only one
person sits between Y and S.Z sits to the
immediate right of the one who sits second
to the left of X.Neither X nor Z is sitting at
an extreme end. The number of persons
sits to the left of T is one less than the
number of persons sit to the right of Z. V
sits adjacent to neither W nor X.




Who among the following person sits to the immediate left
of the one who sits second to the right of V?

A.S

B.X

c.wW

D.T

E.None of these

Who sits second to the left of V?
AT

B.Y

C.W

D.S

E.Z

If Wis related to Y and V is related to Z in a certain way.
Then, who among the following is related to X?

A.S

B.T

C.Y

D.Z

E.None of the above




Four of the five among the following are similar in such a
way to forms a group, who among the following doesn’t
belong to that group?

AT

B.Y

C.V

D.S

E.U

What is the position of V with respect to U?
A.Second to the right

B.Second to the left

C.Third to the left

D.Fourth to the left

E.None of the above




There are six persons-P, Q, R, S, T, and U belong to a different height. P is taller than Q.
U is taller than S. Three persons are between Q and P. The number of persons taller than
S is the same as shorter than R. U is neither the tallest nor the shortest one. The second

tallest person’s height is 165cm.

If the sum of the height of Uand S is
325, and S+R=315 then what is the
height of R?

A.160cm
B.145cm
C.155cm
D.165cm
E.None of the above

What may be the height of P?
A.162

B.160

C.164

D.168

E.None

How many persons are taller than S?
A.One

B.Two

C.Three

D.Four

E.Can’t be determined




If in the number 563812479354, the digits at even positions (from the left end) are
dropped and the remaining digits are arranged in ascending order from the left end,
then which of the following number is second from the right end?

I HEAT 563812479354 H, WH AW (910 R ) & HFH & ger &A1 Jrar &
3R AT 3F P AT BR ¥ HE FA F qIYT AT 0T §, at PrAraRT &
Fl W FEAT T SR ¥ qudr 87




If a meaningful word can be formed by using T, S, H, and A using each letter only
once then what is the second letter from the left end of the newly formed word?
Mark Y as your answer if more than one word is formed. Mark Z if no meaningful
word can be formed.

IfE IcAF HEW &I Fdd Th dR 39A9T & T, S, H, 3K A &7 3930 & T
S ASq TAT ST HaT § dl AT §aF eg F aI¢ BN ¥ qEU HaW 47 82 IS
TFH Y HOF s Taqd & AT Y &) 39a 3 & & A RfFaa #31 afe FF arde
g Gl ST ST Hehll ¢ d Z W e same|

A.A

B.P

C.H

D.Y

E.Z




‘Fresh mind happy life’ is coded as ‘H#14 M@17 K#33 U@17’
‘Kashi city of temple’ is coded as ‘S#20 G@28 L@21 O@25’
‘One airport in Banaras’ is coded as ‘M#20 1#21 R@23 Z#21’

What is the code for ‘excellent’?
A.O@25 B.O#25
C.M@25 D.M#25

E. None of these

What is the code for ‘collect’?

A.X@23 B.Z@23
C.X#25 D.X#23

E. None of these

What is the code for ‘life’?
A.l@17 B.U@17/
C.H#14 D.M@17
E. None of these
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